nc 2C 3Ib 4HC 35HC 6B 7D §B 9D 10A

e 1A 13)C 149C 15D 16)B 17)D 18A 19C 20D

— EEEH20EBE3 H

BEAMARKREITEN " BE =8 +iEs ) WM HEERIREISIELTT - Tk &6 RPN GTT -

$308,600*$20,000*$500—$288,100

(872,000 — $12,000 — $42,000)+($72,000 — $12,000)=30%

$500,000 -+ $4,000 —$5,000 = $499,000

10. HPEEIRF i aEE 2 AR A - ARG SRARRIGE 2 2 SRR G A E ARG SRR H
.

“_HEEHIOEBEOSR

Sl AN

1. $4EH%E=1$600,000—$50,000=$550,000
P E A = B B FEA = FE AR = $550.000x(1 —40%) = $330.000
FH B A =$10,000 + ($400,000 + $20,000 — $5,000 — $25,000) — HI K &
BAARAFE =$70.000

AP IE

GofEmPE
hEERE 02 &£ 1 H 1 HZE 12 A 31 HE
01 £ 1 A 1 H%FE 12 H 31 H

B omER T
N A i A
= £ N [ & 5 [ b % [ &
2EWA
B ULA 385,000 350,000
B IE AR
HE A 318,040 298,500
2. | EEEF 66,960 51,500
5 E H 11,000 10,600
EHEH 25,400 36,400 23,110 33,710
= 5 Fll s 30,560 17,790
= EIMIA BT H
EEZINON
Ji& o3 & & Fll 4 2,000 —
=N H
F 2 2 (1,000) (18,000)
AHRFA] (FF48) 31,560 (210)

(1) 01 FE§4 B A = $3,000 4 ($300,000 + $750 — $2,200) — $3,050 = $298,500
(2)02 FFHEEFI=66960

(3)02 & E F =36400
(4) 02 FEAHAFF] =31560

HIRF&EEITA Bl T
4 | EEEEE | (PEEEEEA R GEEE)
riRsEEE | (FSEAGEEEIRER G

5. (DTEFFECE Q) AEAEEsST QUREIEE  @)EEER (IS A Z/NEEEE A7)
(DTENSFE =$5000



Q)REAEEGET=12500
()AL =2.15



